ASSEMBLY INSTRUCTIONS
Endurance Beds: Mesh Base

Visit www.endurancebeds.co.uk o
Email us af sales@endurancebeds.co.u

for more information.




. Bedbase (4'0 + 4'6 + 5'0 +6'0)

Assembly Instructions

8
8

M8x25mm | &

MéX16mm | 12

M
M6X45m

9)

O—mm

A

B

@
U
D| @—wm

Not included in
this product




STEP 1

QTy

8

CODE| HARDWARE

A |@—m» M8X25

STEP 2

QrYy

12

CODE| HARDWARE

B |(@—mm» M6X16




STEP 3

QrTY
8

8

M6X45

)

CODE| HARDWARE

STEP 4




IF YOU ARE ASSEMBLING THE WROXHAM BED WITH HEADBOARD
BRACKETS, PLEASE NOTE:

e, ~ > FIXINGS NEEDED FOR
~_>“_~"  HEADBOARD BRACKETS:

6 X M8 * 40mm Bolts

6 x Oversized Washers

6 x M8 Wing Nuts

1 x Allen Key

N

N

TOP AND BOTTOM HOLES IN ORDER FROM FRONT TO BACK

Bolt

Metal Headboard Bracket
Cross Section of Bed Headend
Wooden Strut of Headboard
Washer

Wing Nut

o 0~ Wb

MIDDLE HOLES IN ORDER FROM FRONT TO BACK

Wing Nut

Washer

Cross Section of Bed Headend
Metal Headboard Bracket
Bolt

o K~ O~



	104-1
	104-2
	104-3

